(" Foundation Worksheet \
14:05 | Using Trigonometry to
Find Side Lengths

Name: Class:
k ass -

Examplés

s
3

hypotenuse " hypotenuse adjacent

sin 6 = opposite g adjacent tan O = opposnj 7

1 Find x, to 1 decimal place.
17

a __5x = cos 42° b = tan 22°
. X
S x=57 X cos 42° sox=17+tan 22°
=42 =421

2 State which trigonometric ratio is needed, then find x correct to 1 decimal place.

. 9.4 [
38 - X b 64 — o
a sin 30 o ) cas p o
x =30 X sin 38° x =94 + cos 64°

=185 L =214

1 Find x correct to } decimal place.

a X =sin15° b —X_ =tan 38° ¢ X =cos7°
8 17-2 90
d —X—=tan80° e - =sin 64° f X =cos56°
] 11 :
2 Find x correct to 1 decimal place.
a 15 _ cos 40° b 0 tan 10° c L sin 28°
X x X
d 129 _ an 690 e 83 _gin73° f 476 cos. 17°
x x x

3 State which trigonometric ratio is needed, then find x correct to 1 decimal place. '
X
' b C O
X
] 40
10
X e
18 : '/ 49°
4 State which trigonometric ratio is needed, then find x correct to 1 decimal place.
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t4:05 Using Trigonometry to Find Side Lengths

1a 21 b 13-4 c 893 d 3669 e 1798 f 6.2
2 a 19:6 b 397.0 c 85 d 46-1 e 89 f 498 (7
3 4 1an33°%6-5 b c0s62°,4.7 ¢ sin55° 32.8 d sin49°,13.6° e cosl2° 269 f tan25° 15.0

d tanl4° 189 e sin32° 4152 f cos71° 66.0

t a sin40°, 124 b cos60°,20 ¢ tan47° 46.6



